ﬁ @ @ é Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagdo:
6,514 x 10000 = 1,327 x 10000 =
7,962 x 100 = 4,192 x 100000 =
9,942 x 10000 = 10,967 x 100 =
4,771 x 1000000 = 6,274 x 1000 =
10, 69 x 100000 = 7,901 x 100 =
2,453 x 1000000 = 5,346 x 10000 =
2,379 x 100000 = 6,447 x 100 =
6,263 x 100000 = 5,04 x 10 =
9, 66 x 1000000 = 1,293 x 100 =
1,867 x 1000000 = 3, 868 x 100000 =
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Fov e

Multiplique decimais por poténcias de dez

Nome:

6,514 x 10000 = 65140

7,962 x 100 = 796.2

9,942 x 10000 = 99420

4,771 x 1000000 = 4771000

10, 69 x 100000 = 1069000

2,453 x 1000000 = 2453000

2,379 x 100000 = 237900

6,263 x 100000 = 626300

9, 66 x 1000000 = 9660000

1, 867 x 1000000 = 1867000

Encontro: Data: Pontuacao:

1,327 x 10000 = 13270

4,192 x 100000 = 419200

10,967 x 100 = 1096.7

6,274 x 1000 = 6274

7,901 x 100 = 790.1

5, 346 x 10000 = 53460

6,447 x 100 = 644.7

5,04 x10=504

1,293 x 100 = 129.3

3, 868 x 100000 = 386800
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